| Utility | Improv | ements | Phase | Ш |
|---------|--------|--------|-------|---|
|---------|--------|--------|-------|---|

| Elkton, | SD | | J&J Eart | th Works | Halme | , Inc. | Winter Contracting | | H&W Contracting, LLC | | | |
|---------|---|----------|--------------|--------------|--------------|--------------|--------------------|--------------|----------------------|--------------|--------------|--------------|
| | oj #16409 | | 1002 S Ma | adison St. | 44769 SD | | | ox 646 | 3416 W Ho | ovland Dr. | Engineer' | s Estimate |
| Bid Sch | edule A (Phase III) | | Milbank S | | Lake Norden | | Brookings | | Sioux Falls | | | |
| Item# | Description | Quantity | Unit | Total | Unit | Total | Unit | Total | Unit | Total | Unit | Total |
| | - | | Price | Price | Price | Price | Price | Price | Price | Price | Price | Price |
| 1 | Mobilization | 1 LS | \$330,000.00 | \$330,000.00 | \$265,000.00 | \$265,000.00 | \$617,000.00 | \$617,000.00 | \$435,400.00 | \$435,400.00 | \$337,000.00 | \$337,000.00 |
| 2 | Traffic Control Signs | 320 SF | \$2.00 | \$640.00 | \$1.10 | \$352.00 | \$1.20 | \$384.00 | \$1.10 | \$352.00 | \$5.00 | \$1,600.00 |
| 3 | Type 3 Barricade | 37 EA | \$120.00 | \$4,440.00 | \$110.00 | \$4,070.00 | \$120.00 | \$4,440.00 | \$180.00 | \$6,660.00 | \$150.00 | \$5,550.00 |
| 4 | Traffic Control, Miscellaneous | 1 LS | \$13,000.00 | \$13,000.00 | \$25,000.00 | \$25,000.00 | \$10,000.00 | \$10,000.00 | \$15,000.00 | \$15,000.00 | \$30,000.00 | \$30,000.00 |
| 5 | Salvage and Stockpile Asphalt Mix and Granular Base Material | 7,270 TN | \$6.75 | \$49,072.50 | \$11.00 | \$79,970.00 | \$7.50 | \$54,525.00 | \$7.05 | \$51,253.50 | \$8.00 | \$58,160.00 |
| 6 | Remove Asphalt Concrete Pavement | 70 SY | \$12.00 | \$840.00 | \$11.00 | \$770.00 | \$11.00 | \$770.00 | \$9.75 | \$682.50 | \$10.00 | \$700.00 |
| 7 | Remove Concrete Pavement | 504 SY | \$14.00 | \$7,056.00 | \$14.00 | \$7,056.00 | \$9.00 | \$4,536.00 | \$11.00 | \$5,544.00 | \$10.00 | \$5,040.00 |
| 8 | Remove Pipe Culvert | 169 LF | \$13.00 | \$2,197.00 | \$10.00 | \$1,690.00 | \$5.00 | \$845.00 | \$10.00 | \$1,690.00 | \$6.00 | \$1,014.00 |
| 9 | Remove & Reset Mailbox | 24 EA | \$310.00 | \$7,440.00 | \$300.00 | \$7,200.00 | \$275.00 | \$6,600.00 | \$270.00 | \$6,480.00 | \$165.00 | \$3,960.00 |
| 10 | Remove Traffic Sign | 12 EA | \$50.00 | \$600.00 | \$11.00 | \$132.00 | \$11.00 | \$132.00 | \$11.00 | \$132.00 | \$165.00 | \$1,980.00 |
| 11 | Reset Sign | 12 EA | \$250.00 | \$3,000.00 | \$220.00 | \$2,640.00 | \$200.00 | \$2,400.00 | \$205.00 | \$2,460.00 | \$165.00 | \$1,980.00 |
| 12 | Remove Existing Plant and Landscape Materials | 71 SY | \$10.00 | \$710.00 | \$4.00 | \$284.00 | \$11.00 | \$781.00 | \$9.75 | \$692.25 | \$100.00 | \$7,100.00 |
| 13 | Remove, Salvage, & Reset Landscaping | 6 SY | \$150.00 | \$900.00 | \$110.00 | \$660.00 | \$100.00 | \$600.00 | \$50.00 | \$300.00 | \$100.00 | \$600.00 |
| 14 | Remove Concrete Sidewalk | 81 SY | \$12.00 | \$972.00 | \$21.00 | \$1,701.00 | \$9.00 | \$729.00 | \$9.75 | \$789.75 | \$10.00 | \$810.00 |
| 15 | Remove Concrete Curb and/or Gutter | 10 LF | \$40.00 | \$400.00 | \$9.00 | \$90.00 | \$22.00 | \$220.00 | \$41.05 | \$410.50 | \$10.00 | \$100.00 |
| 16 | Clear and Grub Tree | 3 EA | \$1,600.00 | \$4,800.00 | \$500.00 | \$1,500.00 | \$750.00 | \$2,250.00 | \$380.00 | \$1,140.00 | \$800.00 | \$2,400.00 |
| 17 | Remove and Dispose of Existing Lift Station & Appurtenances | 2 EA | \$7,000.00 | \$14,000.00 | \$2,500.00 | \$5,000.00 | \$15,000.00 | \$30,000.00 | \$7,500.00 | \$15,000.00 | \$8,000.00 | \$16,000.00 |
| 18 | Remove & Dispose of Sanitary Manhole | 15 EA | \$550.00 | \$8,250.00 | \$250.00 | \$3,750.00 | \$500.00 | \$7,500.00 | \$800.00 | \$12,000.00 | \$750.00 | \$11,250.00 |
| 19 | Sanitary Sewer Manhole (0-10') | 17 EA | \$4,800.00 | \$81,600.00 | \$7,800.00 | \$132,600.00 | \$7,000.00 | \$119,000.00 | \$3,700.00 | \$62,900.00 | \$6,500.00 | \$110,500.00 |
| 20 | Sanitary Sewer Manhole Extra Depth | 17 VF | \$245.00 | \$4,165.00 | \$700.00 | \$11,900.00 | \$1,000.00 | \$17,000.00 | \$400.00 | \$6,800.00 | \$400.00 | \$6,800.00 |
| 21 | Sanitary Sewer Manhole Inside Drop Assembly | 2 EA | \$1,200.00 | \$2,400.00 | \$1,250.00 | \$2,500.00 | \$1,600.00 | \$3,200.00 | \$1,000.00 | \$2,000.00 | \$400.00 | \$800.00 |
| 22 | 8" PVC Sanitary Sewer Main (0-10') | 1,642 LF | \$84.00 | \$137,928.00 | \$70.00 | \$114,940.00 | \$50.00 | \$82,100.00 | \$82.00 | \$134,644.00 | \$70.00 | \$114,940.00 |
| 23 | 8" PVC Sanitary Sewer Main (10-12') | 1,638 LF | \$86.00 | \$140,868.00 | \$73.00 | \$119,574.00 | \$55.00 | \$90,090.00 | \$85.00 | \$139,230.00 | \$75.00 | \$122,850.00 |
| 24 | 8" PVC Sanitary Sewer Main (12-14') | 425 LF | \$90.00 | \$38,250.00 | \$80.00 | \$34,000.00 | \$60.00 | \$25,500.00 | \$88.00 | \$37,400.00 | \$80.00 | \$34,000.00 |
| 25 | 8" PVC Sanitary Sewer Main (14-16') | 549 LF | \$98.00 | \$53,802.00 | \$86.00 | \$47,214.00 | \$70.00 | \$38,430.00 | \$90.00 | \$49,410.00 | \$90.00 | \$49,410.00 |
| 26 | 8" PVC Sanitary Sewer Main (Alley-0-10') | 632 LF | \$120.00 | \$75,840.00 | \$134.00 | \$84,688.00 | \$60.00 | \$37,920.00 | \$95.00 | \$60,040.00 | \$100.00 | \$63,200.00 |
| 27 | 8" PVC Sanitary Sewer Main (Alley-10-12') | 114 LF | \$127.00 | \$14,478.00 | \$145.00 | \$16,530.00 | \$80.00 | \$9,120.00 | \$100.00 | \$11,400.00 | \$110.00 | \$12,540.00 |
| 28 | 8" PVC Sanitary Sewer Main (Alley-12-14') | 447 LF | \$142.00 | \$63,474.00 | \$155.00 | \$69,285.00 | \$100.00 | \$44,700.00 | \$105.00 | \$46,935.00 | \$120.00 | \$53,640.00 |
| 29 | 8" PVC Sanitary Sewer Main (Alley-14-16') | 297 LF | \$188.00 | \$55,836.00 | \$170.00 | \$50,490.00 | \$110.00 | \$32,670.00 | \$115.00 | \$34,155.00 | \$130.00 | \$38,610.00 |
| 30 | 6" PVC Sanitary Sewer | 57 LF | \$63.00 | \$3,591.00 | \$62.00 | \$3,534.00 | \$50.00 | \$2,850.00 | \$62.00 | \$3,534.00 | \$60.00 | \$3,420.00 |
| 31 | 4" PVC Sanitary Sewer Service | 1,787 LF | \$61.00 | \$109,007.00 | \$48.00 | \$85,776.00 | \$35.00 | \$62,545.00 | \$55.00 | \$98,285.00 | \$50.00 | \$89,350.00 |
| 32 | 8" x 6" Sanitary Sewer Wye | 5 EA | \$290.00 | \$1,450.00 | \$175.00 | \$875.00 | \$500.00 | \$2,500.00 | \$375.00 | \$1,875.00 | \$500.00 | \$2,500.00 |
| 33 | 8" x 4" Sanitary Sewer Wye | 58 EA | \$255.00 | \$14,790.00 | \$125.00 | \$7,250.00 | \$500.00 | \$29,000.00 | \$325.00 | \$18,850.00 | \$400.00 | \$23,200.00 |
| 34 | Tracer Wire Access Box for Sanitary Sewer Service | 46 EA | \$310.00 | \$14,260.00 | \$155.00 | \$7,130.00 | \$200.00 | \$9,200.00 | \$225.00 | \$10,350.00 | \$300.00 | \$13,800.00 |
| 35 | Ground Rod for Sanitary Sewer Service | 46 EA | \$230.00 | \$10,580.00 | \$100.00 | \$4,600.00 | \$200.00 | \$9,200.00 | \$150.00 | \$6,900.00 | \$300.00 | \$13,800.00 |
| 36 | Connect to Existing Sanitary Sewer Service | 56 EA | \$375.00 | \$21,000.00 | \$1,200.00 | \$67,200.00 | \$500.00 | \$28,000.00 | \$850.00 | \$47,600.00 | \$750.00 | \$42,000.00 |
| 37 | Connect to Sanitary Sewer Main | 9 EA | \$1,450.00 | \$13,050.00 | \$1,200.00 | \$10,800.00 | \$1,000.00 | \$9,000.00 | \$1,100.00 | \$9,900.00 | \$1,500.00 | \$13,500.00 |
| 38 | 4" PVC Sanitary Sewer Cap | 8 EA | \$45.00 | \$360.00 | \$4.00 | \$32.00 | \$20.00 | \$160.00 | \$200.00 | \$1,600.00 | \$100.00 | \$800.00 |
| 39 | 8" PVC Sanitary Sewer Cap | 2 EA | \$120.00 | \$240.00 | \$50.00 | \$100.00 | \$75.00 | \$150.00 | \$250.00 | \$500.00 | \$200.00 | \$400.00 |
| 40 | 8" PVC 45° Bend | 4 EA | \$210.00 | \$840.00 | \$99.00 | \$396.00 | \$200.00 | \$800.00 | \$250.00 | \$1,000.00 | \$200.00 | \$800.00 |

| Utility | Improvements Phase III | |
|---------|------------------------|--|
|---------|------------------------|--|

| Elkton | cton, SD | | J&J Earth Works | | Halme | , Inc. | Winter Contracting | | H&W Contracting, LLC | | | |
|--------|---|-----------|-----------------|--------------|-------------|---|--------------------|--------------|----------------------|-------------------|-------------|--------------|
| SPN P | roj #16409 | | 1002 S Ma | adison St. | 44769 SD | Hwy 28 | PO Box 646 | | 3416 W Hovland Dr. | | Engineer's | Estimate |
| Bid Sc | hedule A (Phase III) | | Milbank S | SD 57252 | Lake Norden | SD 57248 | Brookings | SD 57006 | Sioux Falls | SD 57107 | | |
| Item # | Description | Quantity | Unit | Total | Unit | Total | Unit | Total | Unit | Total | Unit | Total |
| | · | , , | Price | Price | Price | Price | Price | Price | Price | Price | Price | Price |
| 41 | Post Televising Sanitary Sewer Main | 5,740 LF | \$2.10 | \$12,054.00 | \$1.35 | \$7,749.00 | \$3.00 | \$17,220.00 | \$2.50 | \$14,350.00 | \$3.50 | \$20,090.00 |
| 42 | Bypass Pumping | 1 EA | \$3,500.00 | \$3,500.00 | \$25,000.00 | \$25,000.00 | \$10,000.00 | \$10,000.00 | \$7,500.00 | \$7,500.00 | \$30,000.00 | \$30,000.00 |
| 43 | Remove & Dispose of Fire Hydrant Assembly | 5 EA | \$375.00 | \$1,875.00 | \$250.00 | \$1,250.00 | \$500.00 | \$2,500.00 | \$450.00 | \$2,250.00 | \$500.00 | \$2,500.00 |
| 44 | Remove & Dispose of Gate Valve | 8 EA | \$175.00 | \$1,400.00 | \$125.00 | \$1,000.00 | \$500.00 | \$4,000.00 | \$300.00 | \$2,400.00 | \$500.00 | \$4,000.00 |
| 45 | 8" PVC Water Main | 898 LF | \$62.00 | \$55,676.00 | \$63.00 | \$56,574.00 | \$55.00 | \$49,390.00 | \$72.00 | \$64,656.00 | \$65.00 | \$58,370.00 |
| 46 | 6" PVC Water Main | 3,001 LF | \$54.50 | \$163,554.50 | \$50.00 | \$150,050.00 | \$45.00 | \$135,045.00 | \$65.00 | \$195,065.00 | \$55.00 | \$165,055.00 |
| 47 | 4" PVC Water Main | 6 LF | \$110.00 | \$660.00 | \$65.00 | \$390.00 | \$40.00 | \$240.00 | \$55.00 | \$330.00 | \$55.00 | \$330.00 |
| 48 | Encasement for 8" PVC Water Main | 20 LF | \$175.00 | \$3,500.00 | \$152.35 | \$3,047.00 | \$110.00 | \$2,200.00 | \$150.00 | \$3,000.00 | \$100.00 | \$2,000.00 |
| 49 | 8" MJ Gate Valve w/ Box | 4 EA | \$3,500.00 | \$14,000.00 | \$3,400.00 | \$13,600.00 | \$3,000.00 | \$12,000.00 | \$2,850.00 | \$11,400.00 | \$3,000.00 | \$12,000.00 |
| 50 | 6" MJ Gate Valve w/ Box | 17 EA | \$2,600.00 | \$44,200.00 | \$2,500.00 | \$42,500.00 | \$2,300.00 | \$39,100.00 | \$2,150.00 | \$36,550.00 | \$2,500.00 | \$42,500.00 |
| 51 | 8" x 8" MJ 22.5° Bend | 1 EA | \$775.00 | \$775.00 | \$950.00 | \$950.00 | \$1,000.00 | \$1,000.00 | \$925.00 | \$925.00 | \$800.00 | \$800.00 |
| 52 | 6" x 6" MJ 45° Bend | 2 EA | \$650.00 | \$1,300.00 | \$750.00 | \$1,500.00 | \$800.00 | \$1,600.00 | \$800.00 | \$1,600.00 | \$800.00 | \$1,600.00 |
| 53 | 8" x 8" MJ 45° Bend | 2 EA | \$780.00 | \$1,560.00 | \$950.00 | \$1,900.00 | \$1,000.00 | \$2,000.00 | \$925.00 | \$1,850.00 | \$800.00 | \$1,600.00 |
| 54 | 6" x 6" MJ 90° Bend | 2 EA | \$675.00 | \$1,350.00 | \$800.00 | \$1,600.00 | \$900.00 | \$1,800.00 | \$825.00 | \$1,650.00 | \$700.00 | \$1,400.00 |
| 55 | 8"x8" MJ Cross | 1 EA | \$1,750.00 | \$1,750.00 | \$1,880.00 | \$1,880.00 | \$2,000.00 | \$2,000.00 | \$1,700.00 | \$1,700.00 | \$1,500.00 | \$1,500.00 |
| 56 | 8" x 6" MJ Tee | 2 EA | \$1,300.00 | \$2,600.00 | \$1,320.00 | \$2,640.00 | \$1,300.00 | \$2,600.00 | \$1,200.00 | \$2,400.00 | \$1,500.00 | \$3,000.00 |
| 57 | 6" x 6" MJ Tee | 8 EA | \$110.00 | \$880.00 | \$1,130.00 | \$9,040.00 | \$1,100.00 | \$8,800.00 | \$1,025.00 | \$8,200.00 | \$1,000.00 | \$8,000.00 |
| 58 | 8" x 6" MJ Reducer | 2 EA | \$680.00 | \$1,360.00 | \$870.00 | \$1,740.00 | \$900.00 | \$1,800.00 | \$725.00 | \$1,450.00 | \$800.00 | \$1,600.00 |
| 59 | 6" x 4" MJ Reducer | 3 EA | \$600.00 | \$1,800.00 | \$650.00 | \$1,950.00 | \$700.00 | \$2,100.00 | \$600.00 | \$1,800.00 | \$600.00 | \$1,800.00 |
| 60 | 6" Foster Adaptor | 1 EA | \$525.00 | \$525.00 | \$350.00 | \$350.00 | \$400.00 | \$400.00 | \$475.00 | \$475.00 | \$300.00 | \$300.00 |
| 61 | Connect to Existing 8" Water Main | 2 EA | \$1,200.00 | \$2,400.00 | \$3,700.00 | \$7,400.00 | \$1,500.00 | \$3,000.00 | \$2,500.00 | \$5,000.00 | \$2,500.00 | \$5,000.00 |
| 62 | Connect to Existing 6" Water Main | 8 EA | \$1,100.00 | \$8,800.00 | \$3,650.00 | \$29,200.00 | \$1,100.00 | \$8,800.00 | \$2,250.00 | \$18,000.00 | \$2,000.00 | \$16,000.00 |
| 63 | Connect to Existing 4" Water Main | 3 EA | \$850.00 | \$2,550.00 | \$3,500.00 | \$10,500.00 | \$1,400.00 | \$4,200.00 | \$1,750.00 | \$5,250.00 | \$1,500.00 | \$4,500.00 |
| 64 | Connect to Existing 6" Gate Valve | 1 EA | \$1,000.00 | \$1,000.00 | \$3,000.00 | \$3,000.00 | \$1,000.00 | \$1,000.00 | \$750.00 | \$750.00 | \$1,500.00 | \$1,500.00 |
| 65 | Connect to Existing Water Meter | 2 EA | \$750.00 | \$1,500.00 | \$990.00 | \$1,980.00 | \$500.00 | \$1,000.00 | \$700.00 | \$1,400.00 | \$1,500.00 | \$3,000.00 |
| 66 | Connect to Existing Fire Hydrant | 1 EA | \$1,100.00 | \$1,100.00 | \$1,650.00 | \$1,650.00 | \$1,000.00 | \$1,000.00 | \$750.00 | \$750.00 | \$1,500.00 | \$1,500.00 |
| 67 | Fire Hydrant Assembly | 7 EA | \$5,850.00 | \$40,950.00 | \$7,500.00 | \$52,500.00 | \$6,000.00 | \$42,000.00 | \$5,500.00 | \$38,500.00 | \$6,000.00 | \$42,000.00 |
| 68 | Yard Hydrant | 1 EA | \$1,300.00 | \$1,300.00 | \$400.00 | \$400.00 | \$1,500.00 | \$1,500.00 | \$800.00 | \$800.00 | \$1,000.00 | \$1,000.00 |
| 69 | 8" x 1" Service Saddle w/ Corp Stop | 14 EA | \$535.00 | \$7,490.00 | \$420.00 | \$5,880.00 | \$1,000.00 | \$14,000.00 | \$600.00 | \$8,400.00 | \$600.00 | \$8,400.00 |
| 70 | 6" x 1" Service Saddle w/ Corp Stop | 29 EA | \$515.00 | \$14,935.00 | \$420.00 | \$12,180.00 | \$900.00 | \$26,100.00 | \$575.00 | \$16,675.00 | \$500.00 | \$14,500.00 |
| 71 | 1" PE | 1,588 LF | \$42.00 | \$66,696.00 | \$45.00 | \$71,460.00 | \$30.00 | \$47,640.00 | \$42.00 | \$66,696.00 | \$35.00 | \$55,580.00 |
| 72 | 1" Curb Stop w/ Box | 42 EA | \$635.00 | \$26,670.00 | \$480.00 | \$20,160.00 | \$1,000.00 | \$42,000.00 | \$600.00 | \$25,200.00 | \$750.00 | \$31,500.00 |
| 73 | Connect to Existing Water Service | 41 EA | \$270.00 | \$11,070.00 | \$850.00 | \$34,850.00 | \$500.00 | \$20,500.00 | \$700.00 | \$28,700.00 | \$650.00 | \$26,650.00 |
| 74 | Tracer Wire Access Box for Water Main | 8 EA | \$350.00 | \$2,800.00 | \$180.00 | \$1,440.00 | \$200.00 | \$1,600.00 | \$225.00 | \$1,800.00 | \$350.00 | \$2,800.00 |
| 75 | Ground Rod for Water Main | 22 EA | \$250.00 | \$5,500.00 | \$100.00 | \$2,200.00 | \$200.00 | \$4,400.00 | \$175.00 | \$3,850.00 | \$350.00 | \$7,700.00 |
| 76 | Unclassified Excavation | 4,390 CY | \$17.00 | \$74,630.00 | \$16.00 | \$70,240.00 | \$11.00 | \$48,290.00 | \$25.95 | \$113,920.50 | \$10.00 | \$43,900.00 |
| 77 | Placing Embankment | 460 CY | \$8.50 | \$3,910.00 | \$14.00 | \$6,440.00 | \$11.00 | \$5,060.00 | \$21.10 | \$9,706.00 | \$5.00 | \$2,300.00 |
| 78 | Waste Material Haul | 3,930 CY | \$12.00 | \$47,160.00 | \$4.50 | \$17,685.00 | \$7.50 | \$29,475.00 | \$17.30 | \$67,989.00 | \$5.00 | \$19,650.00 |
| 79 | Ditch Excavation | 16 CY | \$50.00 | \$800.00 | \$16.00 | \$256.00 | \$28.00 | \$448.00 | \$19.20 | \$307.20 | \$20.00 | \$320.00 |
| 80 | Geotextile Bond Breaker Fabric | 17,630 SY | \$3.35 | \$59,060.50 | \$2.50 | \$44,075.00 | \$4.00 | \$70,520.00 | \$3.55 | \$62,586.50 | \$4.50 | \$79,335.00 |
| | | , | , | , , | | , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | , | | , , , , , , , , , | | 1, |

| Utility 1 | Improvements Phase III | |
|-----------|------------------------|--|
|-----------|------------------------|--|

| Elktor | Elkton, SD | | J&J Eart | th Works | Halme | , Inc. | Winter Contracting | | H&W Contracting, LLC | | | | |
|--------|---------------------------------------|----------|-------------|--------------|-------------|-----------------|--------------------|--------------|----------------------|--------------------|-------------|---------------------|--|
| SPN P | roj #16409 | | 1002 S M | | | 44769 SD Hwy 28 | | PO Box 646 | | 3416 W Hovland Dr. | | Engineer's Estimate | |
| Bid Sc | hedule A (Phase III) | | Milbank S | SD 57252 | Lake Norden | SD 57248 | Brookings | SD 57006 | Sioux Falls | SD 57107 | | | |
| Item # | Description | Quantity | Unit | Total | Unit | Total | Unit | Total | Unit | Total | Unit | Total | |
| | | <u></u> | Price | Price | Price | Price | Price | Price | Price | Price | Price | Price | |
| 81 | Base Course, Salvaged | 7,270 TN | \$8.50 | \$61,795.00 | \$11.00 | \$79,970.00 | \$7.00 | \$50,890.00 | \$9.75 | \$70,882.50 | \$15.00 | \$109,050.00 | |
| 82 | Base Course | 1,530 TN | \$18.75 | \$28,687.50 | \$29.00 | \$44,370.00 | \$18.00 | \$27,540.00 | \$24.30 | \$37,179.00 | \$30.00 | \$45,900.00 | |
| 83 | Gravel Cushion | 610 TN | \$22.50 | \$13,725.00 | \$30.00 | \$18,300.00 | \$18.00 | \$10,980.00 | \$25.40 | \$15,494.00 | \$30.00 | \$18,300.00 | |
| 84 | Class E Asphalt Concrete | 3,260 TN | \$125.00 | \$407,500.00 | \$130.00 | \$423,800.00 | \$130.00 | \$423,800.00 | \$128.55 | \$419,073.00 | \$130.00 | \$423,800.00 | |
| 85 | Gravel Surfacing | 1,410 TN | \$23.00 | \$32,430.00 | \$29.50 | \$41,595.00 | \$18.00 | \$25,380.00 | \$25.40 | \$35,814.00 | \$30.00 | \$42,300.00 | |
| 86 | Adjust Water Valve Box to Grade | 6 EA | \$350.00 | \$2,100.00 | \$300.00 | \$1,800.00 | \$175.00 | \$1,050.00 | \$135.00 | \$810.00 | \$400.00 | \$2,400.00 | |
| 87 | Adjust Curb Stop to Grade | 1 EA | \$300.00 | \$300.00 | \$70.00 | \$70.00 | \$150.00 | \$150.00 | \$200.00 | \$200.00 | \$300.00 | \$300.00 | |
| 88 | Adjust Manhole to Grade | 15 EA | \$700.00 | \$10,500.00 | \$430.00 | \$6,450.00 | \$2,000.00 | \$30,000.00 | \$1,620.00 | \$24,300.00 | \$1,500.00 | \$22,500.00 | |
| 89 | Type B68 Concrete Curb and Gutter | 492 LF | \$28.00 | \$13,776.00 | \$28.00 | \$13,776.00 | \$28.00 | \$13,776.00 | \$31.35 | \$15,424.20 | \$40.00 | \$19,680.00 | |
| 90 | Type P8 Concrete Gutter | 348 LF | \$29.00 | \$10,092.00 | \$28.00 | \$9,744.00 | \$28.00 | \$9,744.00 | \$31.35 | \$10,909.80 | \$40.00 | \$13,920.00 | |
| 91 | 8" Nonreinforced PCC Pavement | 2,855 SY | \$85.00 | \$242,675.00 | \$90.00 | \$256,950.00 | \$85.00 | \$242,675.00 | \$84.25 | \$240,533.75 | \$85.57 | \$244,315.95 | |
| 92 | 6" Nonreinforced PCC Pavement | 23 SY | \$84.00 | \$1,932.00 | \$80.00 | \$1,840.00 | \$75.00 | \$1,725.00 | \$77.80 | \$1,789.40 | \$80.00 | \$1,840.00 | |
| 93 | 8" PCC Driveway Pavement | 97 SY | \$120.00 | \$11,640.00 | \$80.00 | \$7,760.00 | \$75.00 | \$7,275.00 | \$95.15 | \$9,229.55 | \$85.00 | \$8,245.00 | |
| 94 | 6" PCC Driveway Pavement | 723 SY | \$90.00 | \$65,070.00 | \$68.00 | \$49,164.00 | \$65.00 | \$46,995.00 | \$84.25 | \$60,912.75 | \$85.00 | \$61,455.00 | |
| 95 | 8" PCC Fillet | 132 SY | \$140.00 | \$18,480.00 | \$125.00 | \$16,500.00 | \$125.00 | \$16,500.00 | \$123.50 | \$16,302.00 | \$120.00 | \$15,840.00 | |
| 96 | 8" Concrete Valley Gutter | 94 SY | \$140.00 | \$13,160.00 | \$125.00 | \$11,750.00 | \$125.00 | \$11,750.00 | \$123.50 | \$11,609.00 | \$100.00 | \$9,400.00 | |
| 97 | 6" Concrete Valley Gutter | 27 SY | \$115.00 | \$3,105.00 | \$100.00 | \$2,700.00 | \$100.00 | \$2,700.00 | \$119.00 | \$3,213.00 | \$100.00 | \$2,700.00 | |
| 98 | 4" Concrete Sidewalk | 159 SF | \$11.00 | \$1,749.00 | \$20.00 | \$3,180.00 | \$20.00 | \$3,180.00 | \$13.00 | \$2,067.00 | \$10.00 | \$1,590.00 | |
| 99 | Type C Concrete Retaining Wall | 30 LF | \$180.00 | \$5,400.00 | \$90.00 | \$2,700.00 | \$80.00 | \$2,400.00 | \$216.00 | \$6,480.00 | \$100.00 | \$3,000.00 | |
| 100 | 12" CMP Culvert | 76 LF | \$85.00 | \$6,460.00 | \$85.00 | \$6,460.00 | \$70.00 | \$5,320.00 | \$55.00 | \$4,180.00 | \$65.00 | \$4,940.00 | |
| 101 | 24" RCP Class 5, Furnish | 114 LF | \$66.00 | \$7,524.00 | \$82.00 | \$9,348.00 | \$70.00 | \$7,980.00 | \$67.60 | \$7,706.40 | \$65.00 | \$7,410.00 | |
| 102 | 24" RCP, Install | 114 LF | \$47.00 | \$5,358.00 | \$70.00 | \$7,980.00 | \$50.00 | \$5,700.00 | \$40.00 | \$4,560.00 | \$60.00 | \$6,840.00 | |
| 103 | Remove and Replace Topsoil | 1 LS | \$45,000.00 | \$45,000.00 | \$25,000.00 | \$25,000.00 | \$40,000.00 | \$40,000.00 | \$30,500.00 | \$30,500.00 | \$20,000.00 | \$20,000.00 | |
| 104 | Type D Permanent Seed Mixture | 762 Lb | \$11.00 | \$8,382.00 | \$8.50 | \$6,477.00 | \$11.00 | \$8,382.00 | \$10.50 | \$8,001.00 | \$10.00 | \$7,620.00 | |
| 105 | Fertilizing | 327 Lb | \$2.50 | \$817.50 | \$1.10 | \$359.70 | \$1.00 | \$327.00 | \$1.10 | \$359.70 | \$1.00 | \$327.00 | |
| 106 | Hydraulic Straw Mulch | 9,750 Lb | \$0.65 | \$6,337.50 | \$0.55 | \$5,362.50 | \$0.50 | \$4,875.00 | \$0.50 | \$4,875.00 | \$0.60 | \$5,850.00 | |
| 107 | New Mailbox Post | 12 EA | \$150.00 | \$1,800.00 | \$110.00 | \$1,320.00 | \$110.00 | \$1,320.00 | \$110.00 | \$1,320.00 | \$250.00 | \$3,000.00 | |
| 108 | Asphalt Core & Testing for Compaction | 10 EA | \$450.00 | \$4,500.00 | \$250.00 | \$2,500.00 | \$450.00 | \$4,500.00 | \$435.00 | \$4,350.00 | \$500.00 | \$5,000.00 | |
| 109 | Erosion Control Blanket | 508 SY | \$2.75 | \$1,397.00 | \$1.85 | \$939.80 | \$2.50 | \$1,270.00 | \$2.40 | \$1,219.20 | \$10.00 | \$5,080.00 | |
| 110 | Transition Mat | 28 SY | \$156.00 | \$4,368.00 | \$200.00 | \$5,600.00 | \$160.00 | \$4,480.00 | \$160.00 | \$4,480.00 | \$10.00 | \$280.00 | |
| 111 | Exploratory Digging | 10 HR | \$1,200.00 | \$12,000.00 | \$280.00 | \$2,800.00 | \$200.00 | \$2,000.00 | \$175.00 | \$1,750.00 | \$500.00 | \$5,000.00 | |
| 112 | Railroad Protective Insurance | 1 LS | \$6,000.00 | \$6,000.00 | \$2,000.00 | \$2,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$5,000.00 | \$10,000.00 | \$10,000.00 | |
| | | | \$3,054, | 828.00 | \$3,065,0 | 051.00 | \$3,084 | ,839.00 | \$3,237, | 649.95 | \$3,149 | ,566.95 | |

| Utility In | mprovements Phase | Ш |
|------------|-------------------|---|
|------------|-------------------|---|

| - | aton, SD | | First Rate Excavate, Inc. | | Metro Con | Metro Construction | | 605 Companies, Inc. | | ASCO | | |
|----------|---|----------|---------------------------|--------------|---------------------|--------------------|------------------|---------------------|--------------------|--------------|--------------|--------------|
| | oj #16409 | | 1509 E 39th St. N | | 27308 Ponderosa Dr. | | 700 E 65th St. N | | 1205 W Russell St. | | Engineer's | s Estimate |
| Bid Sch | edule A (Phase III) | | Sioux Falls | SD 57104 | Tea SD | 57064 | Sioux Falls | SD 57104 | Sioux Falls | SD 57104 | | |
| Item# | Description | Quantity | Unit | Total | Unit | Total | Unit | Total | Unit | Total | Unit | Total |
| Tterr :: | * | Quantity | Price | Price | Price | Price | Price | Price | Price | Price | Price | Price |
| 1 | Mobilization | 1 LS | \$443,287.16 | \$443,287.16 | \$407,056.66 | \$407,056.66 | \$375,000.00 | \$375,000.00 | \$802,000.00 | \$802,000.00 | \$337,000.00 | \$337,000.00 |
| 2 | Traffic Control Signs | 320 SF | \$1.10 | \$352.00 | \$1.10 | \$352.00 | \$1.25 | \$400.00 | \$1.10 | \$352.00 | \$5.00 | \$1,600.00 |
| 3 | Type 3 Barricade | 37 EA | \$110.00 | \$4,070.00 | \$110.00 | \$4,070.00 | \$125.00 | \$4,625.00 | \$115.00 | \$4,255.00 | \$150.00 | \$5,550.00 |
| 4 | Traffic Control, Miscellaneous | 1 LS | \$9,900.00 | \$9,900.00 | \$9,900.00 | \$9,900.00 | \$11,000.00 | \$11,000.00 | \$10,200.00 | \$10,200.00 | \$30,000.00 | \$30,000.00 |
| 5 | Salvage and Stockpile Asphalt Mix and Granular Base Material | 7,270 TN | \$11.00 | \$79,970.00 | \$6.82 | \$49,581.40 | \$16.00 | \$116,320.00 | \$6.00 | \$43,620.00 | \$8.00 | \$58,160.00 |
| 6 | Remove Asphalt Concrete Pavement | 70 SY | \$10.00 | \$700.00 | \$6.00 | \$420.00 | \$9.50 | \$665.00 | \$13.50 | \$945.00 | \$10.00 | \$700.00 |
| 7 | Remove Concrete Pavement | 504 SY | \$12.00 | \$6,048.00 | \$12.00 | \$6,048.00 | \$9.50 | \$4,788.00 | \$5.00 | \$2,520.00 | \$10.00 | \$5,040.00 |
| 8 | Remove Pipe Culvert | 169 LF | \$25.00 | \$4,225.00 | \$40.00 | \$6,760.00 | \$24.00 | \$4,056.00 | \$17.50 | \$2,957.50 | \$6.00 | \$1,014.00 |
| 9 | Remove & Reset Mailbox | 24 EA | \$275.00 | \$6,600.00 | \$275.00 | \$6,600.00 | \$325.00 | \$7,800.00 | \$285.00 | \$6,840.00 | \$165.00 | \$3,960.00 |
| 10 | Remove Traffic Sign | 12 EA | \$11.00 | \$132.00 | \$11.00 | \$132.00 | \$12.50 | \$150.00 | \$11.50 | \$138.00 | \$165.00 | \$1,980.00 |
| 11 | Reset Sign | 12 EA | \$209.00 | \$2,508.00 | \$209.00 | \$2,508.00 | \$250.00 | \$3,000.00 | \$215.00 | \$2,580.00 | \$165.00 | \$1,980.00 |
| 12 | Remove Existing Plant and Landscape Materials | 71 SY | \$3.00 | \$213.00 | \$10.00 | \$710.00 | \$11.00 | \$781.00 | \$9.20 | \$653.20 | \$100.00 | \$7,100.00 |
| 13 | Remove, Salvage, & Reset Landscaping | 6 SY | \$110.00 | \$660.00 | \$110.00 | \$660.00 | \$11.00 | \$66.00 | \$115.00 | \$690.00 | \$100.00 | \$600.00 |
| 14 | Remove Concrete Sidewalk | 81 SY | \$15.00 | \$1,215.00 | \$10.00 | \$810.00 | \$9.00 | \$729.00 | \$8.30 | \$672.30 | \$10.00 | \$810.00 |
| 15 | Remove Concrete Curb and/or Gutter | 10 LF | \$15.00 | \$150.00 | \$10.00 | \$100.00 | \$3.50 | \$35.00 | \$22.00 | \$220.00 | \$10.00 | \$100.00 |
| 16 | Clear and Grub Tree | 3 EA | \$3,000.00 | \$9,000.00 | \$950.00 | \$2,850.00 | \$750.00 | \$2,250.00 | \$455.00 | \$1,365.00 | \$800.00 | \$2,400.00 |
| 17 | Remove and Dispose of Existing Lift Station & Appurtenances | 2 EA | \$15,000.00 | \$30,000.00 | \$25,000.00 | \$50,000.00 | \$6,000.00 | \$12,000.00 | \$17,400.00 | \$34,800.00 | \$8,000.00 | \$16,000.00 |
| 18 | Remove & Dispose of Sanitary Manhole | 15 EA | \$800.00 | \$12,000.00 | \$1,500.00 | \$22,500.00 | \$1,500.00 | \$22,500.00 | \$580.00 | \$8,700.00 | \$750.00 | \$11,250.00 |
| 19 | Sanitary Sewer Manhole (0-10') | 17 EA | \$5,580.00 | \$94,860.00 | \$7,000.00 | \$119,000.00 | \$6,675.00 | \$113,475.00 | \$4,650.00 | \$79,050.00 | \$6,500.00 | \$110,500.00 |
| 20 | Sanitary Sewer Manhole Extra Depth | 17 VF | \$285.00 | \$4,845.00 | \$550.00 | \$9,350.00 | \$475.00 | \$8,075.00 | \$580.00 | \$9,860.00 | \$400.00 | \$6,800.00 |
| 21 | Sanitary Sewer Manhole Inside Drop Assembly | 2 EA | \$2,263.00 | \$4,526.00 | \$1,700.00 | \$3,400.00 | \$1,250.00 | \$2,500.00 | \$2,900.00 | \$5,800.00 | \$400.00 | \$800.00 |
| 22 | 8" PVC Sanitary Sewer Main (0-10') | 1,642 LF | \$61.00 | \$100,162.00 | \$70.00 | \$114,940.00 | \$84.50 | \$138,749.00 | \$69.50 | \$114,119.00 | \$70.00 | \$114,940.00 |
| 23 | 8" PVC Sanitary Sewer Main (10-12') | 1,638 LF | \$66.00 | \$108,108.00 | \$75.00 | \$122,850.00 | \$92.00 | \$150,696.00 | \$75.50 | \$123,669.00 | \$75.00 | \$122,850.00 |
| 24 | 8" PVC Sanitary Sewer Main (12-14') | 425 LF | \$71.00 | \$30,175.00 | \$80.00 | \$34,000.00 | \$102.25 | \$43,456.25 | \$87.00 | \$36,975.00 | \$80.00 | \$34,000.00 |
| 25 | 8" PVC Sanitary Sewer Main (14-16') | 549 LF | \$76.00 | \$41,724.00 | \$100.00 | \$54,900.00 | \$120.00 | \$65,880.00 | \$98.50 | \$54,076.50 | \$90.00 | \$49,410.00 |
| 26 | 8" PVC Sanitary Sewer Main (Alley-0-10') | 632 LF | \$81.00 | \$51,192.00 | \$140.00 | \$88,480.00 | \$98.00 | \$61,936.00 | \$93.00 | \$58,776.00 | \$100.00 | \$63,200.00 |
| 27 | 8" PVC Sanitary Sewer Main (Alley-10-12') | 114 LF | \$86.00 | \$9,804.00 | \$150.00 | \$17,100.00 | \$108.75 | \$12,397.50 | \$98.50 | \$11,229.00 | \$110.00 | \$12,540.00 |
| 28 | 8" PVC Sanitary Sewer Main (Alley-12-14') | 447 LF | \$91.00 | \$40,677.00 | \$180.00 | \$80,460.00 | \$122.25 | \$54,645.75 | \$105.00 | \$46,935.00 | \$120.00 | \$53,640.00 |
| 29 | 8" PVC Sanitary Sewer Main (Alley-14-16') | 297 LF | \$96.00 | \$28,512.00 | \$200.00 | \$59,400.00 | \$145.00 | \$43,065.00 | \$115.00 | \$34,155.00 | \$130.00 | \$38,610.00 |
| 30 | 6" PVC Sanitary Sewer | 57 LF | \$58.00 | \$3,306.00 | \$100.00 | \$5,700.00 | \$98.25 | \$5,600.25 | \$64.00 | \$3,648.00 | \$60.00 | \$3,420.00 |
| 31 | 4" PVC Sanitary Sewer Service | 1,787 LF | \$52.00 | \$92,924.00 | \$60.00 | \$107,220.00 | \$75.75 | \$135,365.25 | \$58.00 | \$103,646.00 | \$50.00 | \$89,350.00 |
| 32 | 8" x 6" Sanitary Sewer Wye | 5 EA | \$480.00 | \$2,400.00 | \$1,200.00 | \$6,000.00 | \$298.00 | \$1,490.00 | \$465.00 | \$2,325.00 | \$500.00 | \$2,500.00 |
| 33 | 8" x 4" Sanitary Sewer Wye | 58 EA | \$392.00 | \$22,736.00 | \$900.00 | \$52,200.00 | \$250.00 | \$14,500.00 | \$405.00 | \$23,490.00 | \$400.00 | \$23,200.00 |
| 34 | Tracer Wire Access Box for Sanitary Sewer Service | 46 EA | \$162.00 | \$7,452.00 | \$400.00 | \$18,400.00 | \$156.00 | \$7,176.00 | \$175.00 | \$8,050.00 | \$300.00 | \$13,800.00 |
| 35 | Ground Rod for Sanitary Sewer Service | 46 EA | \$125.00 | \$5,750.00 | \$200.00 | \$9,200.00 | \$137.25 | \$6,313.50 | \$58.00 | \$2,668.00 | \$300.00 | \$13,800.00 |
| 36 | Connect to Existing Sanitary Sewer Service | 56 EA | \$2,101.00 | \$117,656.00 | \$500.00 | \$28,000.00 | \$1,000.00 | \$56,000.00 | \$580.00 | \$32,480.00 | \$750.00 | \$42,000.00 |
| 37 | Connect to Sanitary Sewer Main | 9 EA | \$3,192.00 | \$28,728.00 | \$2,500.00 | \$22,500.00 | \$1,000.00 | \$9,000.00 | \$1,750.00 | \$15,750.00 | \$1,500.00 | \$13,500.00 |
| 38 | 4" PVC Sanitary Sewer Cap | 8 EA | \$103.00 | \$824.00 | \$200.00 | \$1,600.00 | \$78.50 | \$628.00 | \$115.00 | \$920.00 | \$100.00 | \$800.00 |
| 39 | 8" PVC Sanitary Sewer Cap | 2 EA | \$185.00 | \$370.00 | \$500.00 | \$1,000.00 | \$122.25 | \$244.50 | \$290.00 | \$580.00 | \$200.00 | \$400.00 |
| 40 | 8" PVC 45° Bend | 4 EA | \$275.00 | \$1,100.00 | \$200.00 | \$800.00 | \$250.00 | \$1,000.00 | \$580.00 | \$2,320.00 | \$200.00 | \$800.00 |

| Utility Improvements Phase I | II |
|------------------------------|----|
|------------------------------|----|

| Elkton | kton, SD | | First Rate Excavate, Inc. | | Metro Con | Metro Construction | | 605 Companies, Inc. | | ASCO | | |
|--------|---|-----------|---------------------------|--------------|-------------|--------------------|-------------|---------------------|-------------|--------------|-------------|--------------|
| | oj #16409 | | 1509 E 39 | | 27308 Pond | 1 | 700 E 65 | | 1205 W R | | Engineer's | Estimate |
| Bid Sc | nedule A (Phase III) | | Sioux Falls | | Tea SD | | Sioux Falls | | Sioux Falls | | | |
| Item # | Description | Quantity | Unit | Total | Unit | Total | Unit | Total | Unit | Total | Unit | Total |
| - | · | | Price | Price | Price | Price | Price | Price | Price | Price | Price | Price |
| 41 | Post Televising Sanitary Sewer Main | 5,740 LF | \$1.96 | \$11,250.40 | \$3.58 | \$20,549.20 | \$2.50 | \$14,350.00 | \$3.50 | \$20,090.00 | \$3.50 | \$20,090.00 |
| 42 | Bypass Pumping | 1 EA | \$30,000.00 | \$30,000.00 | \$25,000.00 | \$25,000.00 | \$8,000.00 | \$8,000.00 | \$11,600.00 | \$11,600.00 | \$30,000.00 | \$30,000.00 |
| 43 | Remove & Dispose of Fire Hydrant Assembly | 5 EA | \$900.00 | \$4,500.00 | \$1,500.00 | \$7,500.00 | \$450.00 | \$2,250.00 | \$580.00 | \$2,900.00 | \$500.00 | \$2,500.00 |
| 44 | Remove & Dispose of Gate Valve | 8 EA | \$400.00 | \$3,200.00 | \$500.00 | \$4,000.00 | \$450.00 | \$3,600.00 | \$290.00 | \$2,320.00 | \$500.00 | \$4,000.00 |
| 45 | 8" PVC Water Main | 898 LF | \$58.00 | \$52,084.00 | \$60.00 | \$53,880.00 | \$53.25 | \$47,818.50 | \$75.50 | \$67,799.00 | \$65.00 | \$58,370.00 |
| 46 | 6" PVC Water Main | 3,001 LF | \$51.00 | \$153,051.00 | \$65.00 | \$195,065.00 | \$47.00 | \$141,047.00 | \$64.00 | \$192,064.00 | \$55.00 | \$165,055.00 |
| 47 | 4" PVC Water Main | 6 LF | \$60.00 | \$360.00 | \$50.00 | \$300.00 | \$44.00 | \$264.00 | \$58.00 | \$348.00 | \$55.00 | \$330.00 |
| 48 | Encasement for 8" PVC Water Main | 20 LF | \$153.00 | \$3,060.00 | \$250.00 | \$5,000.00 | \$200.00 | \$4,000.00 | \$115.00 | \$2,300.00 | \$100.00 | \$2,000.00 |
| 49 | 8" MJ Gate Valve w/ Box | 4 EA | \$3,167.00 | \$12,668.00 | \$4,000.00 | \$16,000.00 | \$3,225.00 | \$12,900.00 | \$4,650.00 | \$18,600.00 | \$3,000.00 | \$12,000.00 |
| 50 | 6" MJ Gate Valve w/ Box | 17 EA | \$2,338.00 | \$39,746.00 | \$3,500.00 | \$59,500.00 | \$2,500.00 | \$42,500.00 | \$4,050.00 | \$68,850.00 | \$2,500.00 | \$42,500.00 |
| 51 | 8" x 8" MJ 22.5° Bend | 1 EA | \$862.00 | \$862.00 | \$1,400.00 | \$1,400.00 | \$875.00 | \$875.00 | \$1,100.00 | \$1,100.00 | \$800.00 | \$800.00 |
| 52 | 6" x 6" MJ 45° Bend | 2 EA | \$768.00 | \$1,536.00 | \$1,100.00 | \$2,200.00 | \$775.00 | \$1,550.00 | \$930.00 | \$1,860.00 | \$800.00 | \$1,600.00 |
| 53 | 8" x 8" MJ 45° Bend | 2 EA | \$865.00 | \$1,730.00 | \$1,350.00 | \$2,700.00 | \$875.00 | \$1,750.00 | \$1,100.00 | \$2,200.00 | \$800.00 | \$1,600.00 |
| 54 | 6" x 6" MJ 90° Bend | 2 EA | \$799.00 | \$1,598.00 | \$1,100.00 | \$2,200.00 | \$800.00 | \$1,600.00 | \$930.00 | \$1,860.00 | \$700.00 | \$1,400.00 |
| 55 | 8"x8" MJ Cross | 1 EA | \$1,738.00 | \$1,738.00 | \$3,500.00 | \$3,500.00 | \$1,800.00 | \$1,800.00 | \$1,750.00 | \$1,750.00 | \$1,500.00 | \$1,500.00 |
| 56 | 8" x 6" MJ Tee | 2 EA | \$1,220.00 | \$2,440.00 | \$1,500.00 | \$3,000.00 | \$1,250.00 | \$2,500.00 | \$1,150.00 | \$2,300.00 | \$1,500.00 | \$3,000.00 |
| 57 | 6" x 6" MJ Tee | 8 EA | \$1,103.00 | \$8,824.00 | \$1,300.00 | \$10,400.00 | \$1,150.00 | \$9,200.00 | \$930.00 | \$7,440.00 | \$1,000.00 | \$8,000.00 |
| 58 | 8" x 6" MJ Reducer | 2 EA | \$761.00 | \$1,522.00 | \$1,000.00 | \$2,000.00 | \$825.00 | \$1,650.00 | \$870.00 | \$1,740.00 | \$800.00 | \$1,600.00 |
| 59 | 6" x 4" MJ Reducer | 3 EA | \$641.00 | \$1,923.00 | \$900.00 | \$2,700.00 | \$800.00 | \$2,400.00 | \$840.00 | \$2,520.00 | \$600.00 | \$1,800.00 |
| 60 | 6" Foster Adaptor | 1 EA | \$557.00 | \$557.00 | \$600.00 | \$600.00 | \$500.00 | \$500.00 | \$580.00 | \$580.00 | \$300.00 | \$300.00 |
| 61 | Connect to Existing 8" Water Main | 2 EA | \$3,150.00 | \$6,300.00 | \$2,000.00 | \$4,000.00 | \$1,950.00 | \$3,900.00 | \$2,900.00 | \$5,800.00 | \$2,500.00 | \$5,000.00 |
| 62 | Connect to Existing 6" Water Main | 8 EA | \$2,450.00 | \$19,600.00 | \$1,500.00 | \$12,000.00 | \$1,900.00 | \$15,200.00 | \$2,300.00 | \$18,400.00 | \$2,000.00 | \$16,000.00 |
| 63 | Connect to Existing 4" Water Main | 3 EA | \$2,200.00 | \$6,600.00 | \$1,500.00 | \$4,500.00 | \$1,825.00 | \$5,475.00 | \$2,100.00 | \$6,300.00 | \$1,500.00 | \$4,500.00 |
| 64 | Connect to Existing 6" Gate Valve | 1 EA | \$1,641.00 | \$1,641.00 | \$5,000.00 | \$5,000.00 | \$1,450.00 | \$1,450.00 | \$1,750.00 | \$1,750.00 | \$1,500.00 | \$1,500.00 |
| 65 | Connect to Existing Water Meter | 2 EA | \$2,330.00 | \$4,660.00 | \$4,500.00 | \$9,000.00 | \$825.00 | \$1,650.00 | \$1,150.00 | \$2,300.00 | \$1,500.00 | \$3,000.00 |
| 66 | Connect to Existing Fire Hydrant | 1 EA | \$1,641.00 | \$1,641.00 | \$5,000.00 | \$5,000.00 | \$1,500.00 | \$1,500.00 | \$1,750.00 | \$1,750.00 | \$1,500.00 | \$1,500.00 |
| 67 | Fire Hydrant Assembly | 7 EA | \$5,736.00 | \$40,152.00 | \$7,500.00 | \$52,500.00 | \$12,750.00 | \$89,250.00 | \$5,200.00 | \$36,400.00 | \$6,000.00 | \$42,000.00 |
| 68 | Yard Hydrant | 1 EA | \$1,237.00 | \$1,237.00 | \$1,500.00 | \$1,500.00 | \$1,125.00 | \$1,125.00 | \$1,150.00 | \$1,150.00 | \$1,000.00 | \$1,000.00 |
| 69 | 8" x 1" Service Saddle w/ Corp Stop | 14 EA | \$487.00 | \$6,818.00 | \$800.00 | \$11,200.00 | \$725.00 | \$10,150.00 | \$1,150.00 | \$16,100.00 | \$600.00 | \$8,400.00 |
| 70 | 6" x 1" Service Saddle w/ Corp Stop | 29 EA | \$486.00 | \$14,094.00 | \$800.00 | \$23,200.00 | \$700.00 | \$20,300.00 | \$1,100.00 | \$31,900.00 | \$500.00 | \$14,500.00 |
| 71 | 1" PE | 1,588 LF | \$39.00 | \$61,932.00 | \$40.00 | \$63,520.00 | \$61.00 | \$96,868.00 | \$46.50 | \$73,842.00 | \$35.00 | \$55,580.00 |
| 72 | 1" Curb Stop w/ Box | 42 EA | \$511.00 | \$21,462.00 | \$1,200.00 | \$50,400.00 | \$600.00 | \$25,200.00 | \$985.00 | \$41,370.00 | \$750.00 | \$31,500.00 |
| 73 | Connect to Existing Water Service | 41 EA | \$1,896.00 | \$77,736.00 | \$500.00 | \$20,500.00 | \$1,000.00 | \$41,000.00 | \$580.00 | \$23,780.00 | \$650.00 | \$26,650.00 |
| 74 | Tracer Wire Access Box for Water Main | 8 EA | \$234.00 | \$1,872.00 | \$500.00 | \$4,000.00 | \$200.00 | \$1,600.00 | \$175.00 | \$1,400.00 | \$350.00 | \$2,800.00 |
| 75 | Ground Rod for Water Main | 22 EA | \$125.00 | \$2,750.00 | \$200.00 | \$4,400.00 | \$150.00 | \$3,300.00 | \$115.00 | \$2,530.00 | \$350.00 | \$7,700.00 |
| 76 | Unclassified Excavation | 4,390 CY | \$12.50 | \$54,875.00 | \$10.00 | \$43,900.00 | \$21.50 | \$94,385.00 | \$12.00 | \$52,680.00 | \$10.00 | \$43,900.00 |
| 77 | Placing Embankment | 460 CY | \$15.50 | \$7,130.00 | \$4.00 | \$1,840.00 | \$7.50 | \$3,450.00 | \$10.61 | \$4,880.60 | \$5.00 | \$2,300.00 |
| 78 | Waste Material Haul | 3,930 CY | \$8.50 | \$33,405.00 | \$17.00 | \$66,810.00 | \$8.50 | \$33,405.00 | \$9.30 | \$36,549.00 | \$5.00 | \$19,650.00 |
| 79 | Ditch Excavation | 16 CY | \$40.00 | \$640.00 | \$10.00 | \$160.00 | \$575.00 | \$9,200.00 | \$118.00 | \$1,888.00 | \$20.00 | \$320.00 |
| 80 | Geotextile Bond Breaker Fabric | 17,630 SY | \$2.50 | \$44,075.00 | \$3.50 | \$61,705.00 | \$3.50 | \$61,705.00 | \$2.70 | \$47,601.00 | \$4.50 | \$79,335.00 |

| Utility 1 | Improvements | Phase | III |
|-----------|--------------|-------|-----|
|-----------|--------------|-------|-----|

| SPN Pr | kton, SD PN Proj #16409 d Schedule A (Phase III) | | First Rate Excavate, Inc. 1509 E 39th St. N Sioux Falls SD 57104 | | Metro Con 27308 Pond Tea SD | lerosa Dr. | 605 Comp 700 E 65 Sioux Falls | oth St. N | ASC 1205 W Ru Sioux Falls S | ıssell St. | Engineer's Estimate | |
|--------|--|-----------|--|----------------|-----------------------------------|----------------|-------------------------------------|----------------|-----------------------------------|----------------|---------------------|-----------------------|
| Item # | Description | Quantity | Unit Price | Total Price | Unit Price | Total Price | Unit Price | Total Price | Unit Price | Total Price | Unit Price | Total |
| 81 | Base Course, Salvaged | 7,270 TN | \$9.50 | \$69,065.00 | \$8.00 | \$58,160.00 | \$9.25 | \$67,247.50 | \$12.50 | \$90,875.00 | \$15.00 | Price \$109,050.00 |
| 82 | Base Course | 1,530 TN | \$30.00 | \$45,900.00 | \$25.00 | \$38,250.00 | \$18.50 | \$28,305.00 | \$17.50 | \$26,775.00 | \$30.00 | \$45,900.00 |
| 83 | Gravel Cushion | 610 TN | \$30.00 | \$18,300.00 | \$22.00 | \$13,420.00 | \$18.50 | \$11,285.00 | \$31.50 | \$19,215.00 | \$30.00 | \$18,300.00 |
| 84 | Class E Asphalt Concrete | 3,260 TN | \$130.90 | \$426,734.00 | \$130.90 | \$426,734.00 | \$170.50 | \$555,830.00 | \$130.00 | \$423,800.00 | \$130.00 | \$423,800.00 |
| 85 | Gravel Surfacing | 1,410 TN | \$33.00 | \$46,530.00 | \$26.00 | \$36,660.00 | \$31.25 | \$44,062.50 | \$28.00 | \$39;480.00 | \$30.00 | \$42,300.00 |
| 86 | Adjust Water Valve Box to Grade | 6 EA | \$165.00 | \$990.00 | \$165.00 | \$990.00 | \$875.00 | \$5,250.00 | \$380.00 | \$2,280.00 | \$400.00 | \$2,400.00 |
| 87 | Adjust Curb Stop to Grade | 1 EA | \$250.00 | \$250.00 | \$250.00 | \$250.00 | \$150.00 | \$150.00 | \$305.00 | \$305.00 | \$300.00 | \$300.00 |
| 88 | Adjust Manhole to Grade | 15 EA | \$1,980.00 | \$29,700.00 | \$1,980.00 | \$29,700.00 | \$450.00 | \$6,750.00 | \$965.00 | \$14,475.00 | \$1,500.00 | \$22,500.00 |
| 89 | Type B68 Concrete Curb and Gutter | 492 LF | \$34.80 | \$17,121.60 | \$27.50 | \$13,530.00 | \$36.00 | \$17,712.00 | \$29.00 | \$14,268.00 | \$40.00 | \$19,680.00 |
| 90 | Type P8 Concrete Gutter | 348 LF | \$34.80 | \$12,110.40 | \$27.50 | \$9,570.00 | \$36.00 | \$12,528.00 | \$29.00 | \$10,092.00 | \$40.00 | \$13,920.00 |
| 91 | 8" Nonreinforced PCC Pavement | 2,855 SY | \$93.60 | \$267,228.00 | \$85.80 | \$244,959.00 | \$97.00 | \$276,935.00 | \$90.00 | \$256,950.00 | \$85.57 | \$244,315.95 |
| 92 | 6" Nonreinforced PCC Pavement | 23 SY | \$86.40 | \$1,987.20 | \$77.00 | \$1,771.00 | \$89.50 | \$2,058.50 | \$80.50 | \$1,851.50 | \$80.00 | \$1,840.00 |
| 93 | 8" PCC Driveway Pavement | 97 SY | \$105.60 | \$10,243.20 | \$77.00 | \$7,469.00 | \$109.50 | \$10,621.50 | \$80.50 | \$7,808.50 | \$85.00 | \$8,245.00 |
| 94 | 6" PCC Driveway Pavement | 723 SY | \$93.60 | \$67,672.80 | \$66.00 | \$47,718.00 | \$97.00 | \$70,131.00 | \$69.00 | \$49,887.00 | \$85.00 | \$61,455.00 |
| 95 | 8" PCC Fillet | 132 SY | \$136.80 | \$18,057.60 | \$121.00 | \$15,972.00 | \$142.00 | \$18,744.00 | \$125.00 | \$16,500.00 | \$120.00 | \$15,840.00 |
| 96 | 8" Concrete Valley Gutter | 94 SY | \$136.80 | \$12,859.20 | \$121.00 | \$11,374.00 | \$142.00 | \$13,348.00 | \$125.00 | \$11,750.00 | \$100.00 | \$9,400.00 |
| 97 | 6" Concrete Valley Gutter | 27. SY | \$132.00 | \$3,564.00 | \$99.00 | \$2,673.00 | \$137.00 | \$3,699.00 | \$105.00 | \$2,835.00 | \$100.00 | \$2,700.00 |
| 98 | 4" Concrete Sidewalk | 159 SF | \$14.40 | \$2,289.60 | \$19.80 | \$3,148.20 | \$15.00 | \$2,385.00 | \$20.50 | \$3,259.50 | \$10.00 | \$1,590.00 |
| 99 | Type C Concrete Retaining Wall | 30 LF | \$240.00 | \$7,200.00 | \$77.00 | \$2,310.00 | \$250.00 | \$7,500.00 | \$80.50 | \$2,415.00 | \$100.00 | \$3,000.00 |
| 100 | 12" CMP Culvert | 76 LF | \$70.00 | \$5,320.00 | \$80.00 | \$6,080.00 | \$47.25 | \$3,591.00 | \$75.50 | \$5,738.00 | \$65.00 | \$4,940.00 |
| 101 | 24" RCP Class 5, Furnish | 114 LF | \$76.00 | \$8,664.00 | \$85.00 | \$9,690.00 | \$81.25 | \$9,262.50 | \$75.50 | \$8,607.00 | \$65.00 | \$7,410.00 |
| 102 | 24" RCP, Install | 114 LF | \$62.00 | \$7,068.00 | \$55.00 | \$6,270.00 | \$73.50 | \$8,379.00 | \$64.00 | \$7,296.00 | \$60.00 | \$6,840.00 |
| 103 | Remove and Replace Topsoil | 1 LS | \$85,000.00 | \$85,000.00 | \$35,000.00 | \$35,000.00 | \$12,750.00 | \$12,750.00 | \$58,300.00 | \$58,300.00 | \$20,000.00 | \$20,000.00 |
| 104 | Type D Permanent Seed Mixture | 762 Lb | \$10.67 | \$8,130.54 | \$8.31 | \$6,332.22 | \$9.25 | \$7,048.50 | \$8.60 | \$6,553.20 | \$10.00 | \$7,620.00 |
| 105 | Fertilizing | 327 Lb | \$1.10 | \$359.70 | \$1.10 | \$359.70 | \$1.25 | \$408.75 | \$1.10 | \$359.70 | \$1.00 | \$327.00 |
| 106 | Hydraulic Straw Mulch | 9,750 Lb | \$0.50 | \$4,875.00 | \$0.55 | \$5,362.50 | \$1.00 | \$9,750.00 | \$0.55 | \$5,362.50 | \$0.60 | \$5,850.00 |
| 107 | New Mailbox Post | 12 EA | \$110.00 | \$1,320.00 | \$110.00 | \$1,320.00 | \$125.00 | \$1,500.00 | \$115.00 | \$1,380.00 | \$250.00 | \$3,000.00 |
| 108 | Asphalt Core & Testing for Compaction | 10 EA | \$495.00 | \$4,950.00 | \$495.00 | \$4,950.00 | \$350.00 | \$3,500.00 | \$510.00 | \$5,100.00 | \$500.00 | \$5,000.00 |
| 109 | Erosion Control Blanket | 508 SY | \$2.37 | \$1,203.96 | \$1.82 | \$924.56 | \$2.00 | \$1,016.00 | \$1.90 | \$965.20 | \$10.00 | \$5,080.00 |
| 110 | Transition Mat | 28 SY | \$162.63 | \$4,553.64 | \$195.55 | \$5,475.40 | \$35.00 | \$980.00 | \$200.00 | \$5,600.00 | \$10.00 | \$280.00 |
| 111 | Exploratory Digging | 10 HR | \$250.00 | \$2,500.00 | \$700.00 | \$7,000.00 | \$450.00 | \$4,500.00 | \$405.00 | \$4,050.00 | \$500.00 | \$5,000.00 |
| 112 | Railroad Protective Insurance | Manning S | \$6,500.00 | \$6,500.00 | \$10,000.00 | \$10,000.00 | \$20,000.00 | \$20,000.00 | \$5,700.00 | \$5,700.00 | \$10,000.00 | \$10,000.00 |
| | - Hulli | OFESS! | \$3,348,3 | 378.00 | \$3,453,6 | 509.84 | \$3,556, | 253.25 | \$3,622,4 | 54.20 | \$3,149,5 | 66.95 |
| | 11 Exploratory Digging | | | | | | | | | | | |
| | | | | | Page 6 of 6 | | | | | | | |